



Vendor Ranking

Call Order: 010

Page 1 of 1

06221117 Letting:

November 17, 2022 11:00

Contract:

E6070-R0

District 6 District:

Counties: MIAMI-DADE

Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

AM

Project(s): 44602827201 (*)

Contract Desc: TREE TRIMMING MIAMI DADE COUNTY - ROUTINE MAINTENANCE

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ALEXANDER DESIGN + BUILD, LLC	Responsive	Winning bid	\$149,935.00	100.00%
2	T.T.C. ENVIRONMENTAL, INC.	Non Responsive	Non-Winning Bid	\$177,225.00	118.20%
3	T & M LAWN-FENCE SERVICE INC	Responsive	Non-Winning Bid	\$219,071.00	146.11%
4	BELLA FIORE LANDSCAPING LLC	Responsive	Non-Winning Bid	\$376,732.00	251.26%
5	SUPERIOR LANDSCAPING & LAWN SE	Responsive	Non-Winning Bid	\$691,797.00	461.40%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 6

Letting: 06221117 November 17, 2022 **Call Order:** 010 **Contract:** E6O70-R0

District: District 6 Counties: MIAMI-DADE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 44602827201 (*)

Contract Descr: TREE TRIMMING MIAMI DADE COUNTY - ROUTINE MAINTENANCE

A contract to provide labor, equipment and materials to trim or prune trees and vegetation, remove undesired trees and vegetation, and dispose of resulting debris on various state roads.

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Department's estimated quantities and the Contractors' bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will based on actual quantities completed. For this Contract in which specific site are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to accomplished, and the number calendar days to complete the work.

Award will be made at the Budgetary Ceiling amount of \$190,000.00.

	No / Item ID Alternate Description	Quantity Units	(1) ALEXANDE BUILD		(2) T.T.C. ENVI		\ <i>,</i>	AWN-FENCE ICE INC
	cates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(TREE TRIMMI	NG AND REMOVA	AL (MH				
	E570 6 ZER, SLOW RELEASE FOR	1.000 TN	2,500.00000	2,500.00	250.00000	250.00	1.00000	1.00
	E570 9 1 FOR GRASS & PLANTS	5.000 MG	70.00000	350.00	1,000.00000	5,000.00	1.00000	5.00
	E575 1 4 G, ST AUGUSTINE	100.000 SY	9.00000	900.00	10.00000	1,000.00	4.00000	400.00
LANDSCA	E580 3 1 APE MAINTENANCE (WEE _A L, MANUAL)	100,000.000 D SF	0.10000	10,000.00	0.50000	50,000.00	0.01000	1,000.00
	E580173 EPARATION & MULCHING	10,000.000 SY	1.00000	10,000.00	7.00000	70,000.00	0.01000	100.00



Page 2 of 6

Florida Department of Transportation



Tabulation of Bids

Letting	g : 00	6221117	November 17,	2022 Ca	II Order: 010		Contract:	E6O70-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) ALEXAND BUILD		(2) T.T.C. ENVI			AWN-FENCE CE INC
	-	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(TREE TRIMMII	NG AND REMOVA	AL (MH				
0030 TREE R	E580332 21 EMOVAL (4" ⁻	TO 12")	30.000 EA	70.00000	2,100.00	25.00000	750.00	10.00000	300.00
0035 TREE R	E580332 22 EMOVAL (13"	' TO 24")	10.000 EA	350.00000	3,500.00	50.00000	500.00	500.00000	5,000.00
0040 TREE T	E580332 97 RIMMING		5,500.000 EA	13.00000	71,500.00	5.00000	27,500.00	30.00000	165,000.00
0045 STUMP	E580333 1 REMOVAL (4	" TO 24")	5.000 EA	40.00000	200.00	10.00000	50.00	200.00000	1,000.00
0050 STUMP	E580333 2 REMOVAL (2	5" TO 48")	3.000 EA	40.00000	120.00	100.00000	300.00	500.00000	1,500.00
0055 PRUNIN SHRUB		MING (TREES /	115.000 AND PM	195.00000	22,425.00	25.00000	2,875.00	1.00000	115.00
0060 PRUNIN SHRUB		MING (TREES /	15,000.000 AND SF	0.12000	1,800.00	0.50000	7,500.00	0.27000	4,050.00
0065 PRUNIN	E580336 14 NG AND TRIMI	MING (PALMS)	2,000.000 EA	12.00000	24,000.00	5.00000	10,000.00	20.00000	40,000.00
0070 HERBIC SF)	E580337 3 CIDE (SPOT A	PPLICATION <	6,000.000 100 SF	0.09000	540.00	0.25000	1,500.00	0.10000	600.00



11/22/2022

Tabulation of Bids

Page 3 of 6

Letting:	06221117	November 17,	2022 C	all Order: 010		Contract:	E6O70-R0		
Line No / Ite		te Quantity Units	PUII D LLC INC					M LAWN-FENCE ERVICE INC	
() indicates ite	em is bid as Lump Sum	າ	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECT	TON: 0001	(TREE TRIMMI	NG AND REMO	VAL (MH					
0001 TRE	E TRIMMING AND REMOVAL (MH)	Section Totals:		\$149,935.00		\$177,225.00		\$219,071.00	
	Contract C	Grand Totals:		\$149,935.00		\$177,225.00		219,071.00	



Page 4 of 6

Florida Department of Transportation



Tabulation of Bids

Lettin	g : 06	221117	November 17,	2022 Ca l	II Order: 010		Contract:	E6O70-R0	
	No / Item ID Description	Alternate	Quantity Units	(4) BELL LANDSCA		(5) SUPERIOR L & LAW			
() inc	dicates item is bio	l as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(TREE TRIMMI	NG AND REMOVA	AL (MH				
0005 FERTIL TURF	E570 6 IZER, SLOW R	ELEASE FOR	1.000 TN	2,500.00000	2,500.00	2,800.00000	2,800.00		
0010 WATER	E570 9 1 R FOR GRASS 8	& PLANTS	5.000 MG	14.00000	70.00	120.00000	600.00		
0015 SODDIN	E575 1 4 NG, ST AUGUS	TINE	100.000 SY	6.42000	642.00	4.77000	477.00		
	E580 3 1 CAPE MAINTEI /AL, MANUAL)	NANCE (WEEI	100,000.000 D SF	0.12000	12,000.00	0.14000	14,000.00		
0025 BED PF	E580173 REPARATION 8	MULCHING	10,000.000 SY	1.37000	13,700.00	5.20000	52,000.00		
0030 TREE R	E580332 21 REMOVAL (4" T	O 12")	30.000 EA	770.00000	23,100.00	288.00000	8,640.00		
0035 TREE R	E580332 22 REMOVAL (13"	TO 24")	10.000 EA	1,050.00000	10,500.00	488.00000	4,880.00		
0040 TREE T	E580332 97 RIMMING		5,500.000 EA	35.00000	192,500.00	61.00000	335,500.00		
0045 STUMP	E580333 1 REMOVAL (4"	TO 24")	5.000 EA	380.00000	1,900.00	500.00000	2,500.00		



11/22/2022

Tabulation of Bids

Page 5 of 6

Letting:	062211	17 Nov	ember 17,	2022 Cal	I Order: 010		Contract:	E6O70-R0	
	lo / Item ID A	Alternate	Quantity Units	(4) BELLA		(5) SUPERIOR L & LAW			
() indic	cates item is bid as Lui	mp Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(TF	REE TRIMMI	NG AND REMOVA	AL (MH				
	E580333 2 REMOVAL (25" TO 4	18")	3.000 EA	640.00000	1,920.00	900.00000	2,700.00		
	E580336 4 G AND TRIMMING ()	TREES AND	115.000 PM	100.00000	11,500.00	1,660.00000	190,900.00		
	E580336 5 G AND TRIMMING ()		15,000.000 D SF	3.00000	45,000.00	0.66000	9,900.00		
	E580336 14 G AND TRIMMING (PALMS)	2,000.000 EA	22.00000	44,000.00	33.00000	66,000.00		
	E580337 3 DE (SPOT APPLIC <i>A</i>	ATION < 100	6,000.000 SF	2.90000	17,400.00	0.15000	900.00		
0001	1 TREE TRIMMING REMOVAL		on Totals:		\$376,732.00		\$691,797.00		

Contract Grand Totals: \$376,732.00 \$691,797.00



11/22/2022

Tabulation of Bids

Page 6 of 6

Letting: 06221117

21117 November 17, 2022

Call Order: 010

Contract:

E6O70-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.